
Soustraction Avec Des Zéros (B)Calculez la différence.
100 100 100 100- 67 - 12 - 8 - 92
100 100 100 100- 48 - 25 - 48 - 17
100 100 100 100- 3 - 77 - 44 - 61
100 100 100 100- 90 - 97 - 9 - 91
100 100 100 100- 19 - 15 - 64 - 9
100 100 100 100- 40 - 9 - 4 - 58
100 100 100 100- 89 - 58 - 21 - 53
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Soustraction Avec Des Zéros (B) RéponsesCalculez la différence.
100 100 100 100- 67 - 12 - 8 - 9233 88 92 8100 100 100 100- 48 - 25 - 48 - 1752 75 52 83100 100 100 100- 3 - 77 - 44 - 6197 23 56 39100 100 100 100- 90 - 97 - 9 - 9110 3 91 9100 100 100 100- 19 - 15 - 64 - 981 85 36 91100 100 100 100- 40 - 9 - 4 - 5860 91 96 42100 100 100 100- 89 - 58 - 21 - 5311 42 79 47
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